
Multiplier des fractions mixtes négatives (F)

Nom: Date: Note:

Calculez chaque produit.

1. (−516) ×
1
2 =

2.
2
3 × (−245) =

3. 213 × (−135) =

4.
3
5 × (−225) =

5. (−313) ×
1
3 =

6.
3
5 × (−124) =

7. (−145) × (−235) =

8. 212 × (−314) =

9. (−314) × 235 =

10. 516 × (−125) =
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Multiplier des fractions mixtes négatives (F) Réponses

Nom: Date: Note:

Calculez chaque produit.

1. (−516) ×
1
2 = (−316 ) ×

1
2 = (−3112) = (−2 712)

2. 2
3 × (−245) = 2

3 × (−145 ) = (−2815) = (−11315)

3. 213 × (−135) = 7
3 × (−85) = (−5615) = (−31115)

4. 3
5 × (−225) = 3

5 × (−125 ) = (−3625) = (−11125)

5. (−313) ×
1
3 = (−103 ) ×

1
3 = (−109 ) = (−119)

6. 3
5 × (−124) = 3

5 × (−64) = (−1820) = (− 9
10)

7. (−145) × (−235) = (−95) × (−135 ) = 117
25 = 41725

8. 212 × (−314) = 5
2 × (−134 ) = (−658 ) = (−818)

9. (−314) × 235 = (−134 ) ×
13
5 = (−16920 ) = (−8 920)

10. 516 × (−125) = 31
6 × (−75) = (−21730 ) = (−7 730)
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